Graded Homework #8, due Friday, Nov. 7, at the beginning of class

Philosophy 2440: Symbolic Logic, Fall 2014, Prof. Rupert

Give natural deduction proofs of the following argument forms (A and B are worth three points each; C is worth four points).
A.  1 (1) (x)[(Gx & Bx)  Hx]             Pr.
      2 (2) (x)[Rx  (Bx & Gx)]             Pr        (x)(Rx  Hx)
B.   1 (1) (y)(By Ay)            Pr.

       2 (2) (x)Ax  (y)Gy       Pr.
       3 (3) Bk 


 Pr.         (x)Gx
C.  1 (1) (x)(Gx  Hx)       Pr.
      2 (2) (x)(~ Rx & Gx)      Pr      (x) ~ (~ Hx v Rx)
